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def input_Llist(lst) :

name = input('0|l§? ')

num = input('#s? ')

lst.append(name)
1st.append(num)

# F Tzl

userinfo = []

input_Llist(userinfo)
print(f'{userinfo[1]}H {userinfo[0]}')
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123H O|Rk
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Python 3.6 Print output (drag lower right corner to resize)
(known limitations) O|&? Ot
HE? 123
1 def input_list(lst) :
2 name = input('0|§? ')
3 num = input('#&? ')
4
5 1st.append(name) Frames Objects
= 6 Lst.append (num) Global frame _ function
7 input_list(lst)
8 #F Z2aum input_list |-
9 userinfo = [] userinfo | - II;t :
10 input_list(userinfo) nO|gtp" | wya3n
11 print(f'{userinfo[1l]}¥ {userinfo[0]}') input_list
Ist

s name | "Ol&"
num "123"

Return
O value

line that just executed
= next line to execute

None

| <<First | | <Prev | | Next> | | Last>> |
Step 9 of 10
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121105 Di7HEHS0| T2 X 2
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def input_list() :
name = input('0l=7 ")
num = dnput('#s? ')

st = []
lst.append(name)
lst.append(num)
return lst

# & D=8
userinfo = input_list()

oy 7z
0IE? 0jFkr

H57? 123
123 O|Rk

print(f'{userinfo[1]}} {userinfo[0]}"')
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Python 3.6 Print output (drag lower right corner to resize)
(known limitations) 0|82 O|E$
HE? 123
1 def input_list() : 123 OfEt=
2 name = input('0[&? ')
3 num = input('#&? ')
4
5 1st = [] Frames Objects
¢ Lst.append(name) |Global frame function
7 1st.append (num) | ~ ’ input_list()
8 return 1st I input_list L
|

userinfo \_-—\ i

"ojg4"

9
10 # & D203y

1
||123n

11 wuserinfo = input_list()
12 print(f'{userinfo[1]}¥ {userinfo[0]}")

Edit thi j
line that just executed
= next line to execute

[ <<First | [ <Prev | Next>  Last>>
Done running (11 steps)
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# AEX

def get .

y =
m
d

Ho| gar

date ()

int(input ('HE? "))
int (input ('&? "))
int (input ('€? "))

return (y, m, d)

- L
print ('S4 MAS QUBAGIHR: ")

bday =

get date()

print (£'&AIC] OF 60HM MUZS {bday[0]+60}E {bday[1]}& {bday[2]}Z&LICt.")
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£ ac 03

01 | msgs = ['E=SHAl', "HORHA', "YYSHA|']
02 | for e in msgs :
03 print(f'{e}/', end='")
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range(len(2[AE)) :
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for 1 in range(len(msgs)) :

o}
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1A/

oAl /=Hoks

print(f'{msgs[i]}/', end="'")

msgs = ['E
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S|/ HolstAl / SHESHA|/

u A -4 A M
OpX|2F QARH e = H2
=i = L_ — A
o B2t Sl 49| QHAS Ao = MY
« len(msgs)-1 £H -1 ™K 14 S7H1A &)
ETEER 2lAE 0lgs BAES sidom s 12
01 | msgs = ['CESH', 'COlHAI', "EESHA]
02 for 1 1in range(len(msgs) - 1, -1, -1) :
@3 print(f'{msgs[i]}/', end="")
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1A = Z2-5F (2A)

o THAZ MZ= DO Mk 24

- A =4S 2 GEE L QAMIZER #H

QFZAL TR TfO| Ot ZE

01 # l~4L_| 7-| |.,__|_|__ olzddi=2

| = [ [ =l =]
02 | # QUTHIS 1~450| HFQIESE =T
03 | # total = YRS 1~459 HFQIPPo| 82 78
04 | # F /I (total) =

23



# 3 D2

# 1~439| 7iFQlErE EES

population = input_num_of_population()

# YHUZ2 1~489 HFUESE =4

show_num_of_population(population)

# total = YHHI2 1~4F9| HFQI¥r2| &

total = get_total(population)

# & Q4 (total) &=

print(f'E HFLEr= {total}HYLICL. ")
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@1  def dinput_num_of_population()

02 # nPeoplel = 159 HFQIHFE UHES

03 # nPeople2 = 23°| HRQIHTE UHYS

04 # nPeople3 = 3329 HFQUHME UHYI

05 # nPeopled = 459| 7FQILE UYL

06

07 # OIE'_:ItII-C' 7.|J’~T.O|.,=|A-E —x:':_i f§I_|-

08 return (nPeoplel, nPeople2, nPeople3, nPeople4)
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U ol 47 v2 (2F)

01 | def -input_num_of_population() :

02 # for f& 1%E 47IX| HaGIHA

03 # nPeople = 32| HFLIHELE AUHES

04

05 # A2 AHRCIELE SEFC= Hig

06 return (nPeoplel, nPeople2, nPeople3, nPeople4d)
AL = O o35

. B 0|22 1 AIKZ D0 AMAIR HAtAoR
o = o A - O ="

I =7 > €2 H0 HEE=E =4 2
=3 A2y 28
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01
02
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05
06
o7

def input_num_of_population() :

# 2|AE nPeople XM
# for f& 158H 47IX| H3SIHA

# Qe HEOIRAE SEZo= uig

return nPeople
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Of Hh= Z=7[0FCF 1505 47HX| Belol7tD 2 fOf
EA MHCF
oOT L2
s 2| AEE O QARE EX5IER 2[AE QHA Al
f-12 7[=3l0F =0l 2

01 def input_num_of_population() :

02 nPeople = [0, 0, 0, O]

03 for f 1in range(1, 5) :

04 nPeople[f - 1] = 1int(input(f'{f}32 HF2ILE=? "))
05

06 # Y2 JHROIHFE sE==0= st

07 return nPeople
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06
07

=212 7=
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def 1input_num_of_population() :

nPeople = [0, O, 0, O]
for £ in range(4) : # range(len(nPeople))
nPeople[f] = int(input(f'{f + 1} HFELE=? "))

# Qe ZoIpAE SER0= IS

return nPeople
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0 5c10-13 JOCELCEETs

01 def input_num_of_population() :

02 nPeople = []

03 for f 1in range(4) :

04 n = int(Ginput(f'{f + 1}59 AHFOILE=2 1))
05 nPeople.append(n)

06

07 # Y2 HFLIEPE S=50= st

08 return nPeople
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¢ 1¢t

population(p) :

def show_num_of_

01

cnt = len(p)

02

for i 1in range(cnt) :

03

{p[i]1} 3. ")

AL
—

(=)
21

print(f'{i + 1}&%| =

04
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CIAH|- ZF =0| H=O|QA =8 &tA 18
3THA. & B AFllEr &8 g 1o
. 2?_f
S| AEO BHE QA0 HZSER 2[AE0 Chs| A F
A= M| 7ts
2t S0 AFQINULE BHBIE B4l TH v2
01 | def show_num_of_population(p) :
02 f=1
03 for n in p :
04 print(f'{f}&2 F2Er= {n}HYULICE. ")
05 f 4= 1
- IEZEQN 5+ =595 7ol B2 B fE E
« Z7|SHe BH2S AR HO| 1B 3 E|00F B0
=2 A=y 28 33



*IETRTETIN 2|AE0| IE Q40| 78 F5Hs E40] M: vi
01 | def get_total(lst) :

02 total = 1st[0] + lst[1l] + lst[2] + lst[3]
03 return total

oftl Aol MF| Kalstx| 23
. 5O Yool HElZ Dy He
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ATHA:
& 20t

total = ( ( ( lst[0] + lst[1] ) + lst[2] ) + lst[3] )

2| AA|: v2-1

S
[=]

k=

-6

HE

B|AES| QE QA0

AE 1017

#

def get_total(lst) :

01

total = 1lst[0] + lst[1]
total += 1lst[2]
total += 1st[3]

02

03

04
05

return total

06

35

olo
oIl
70

jol

"



4THA: & AT ALt g A/
=y

o’/ISolH & O 2 BHPE =& = AEE
AT
T O

JECECRTI) 2lAse] BE 40| SE Fals Bl 7 v2-3

01 | def get_total(lst) :

02 total = 0

03 total += lst[0]
04 total += lst[1]
@5 total += lst[2]
06 total += lst[3]
07

08 return total
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2|AES| IE Q49| 8|

3E 10-20

#

def get_total(lst) :

01

total = 0

02

for n in 1lst :

03

=n

total +

04
05

return total

06
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e 2|AEDQ| =
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= total =

E‘AEO‘

SES Tot=

2t sum() NS

sum(population)

38



AF T2 (MY L)

QIRZA Z2TH (845)

01 | # A2AF FHo| s
02 # It 10-13
03 | def [dinput_num_of_population()

04 nPeople = []

05 for f in range(4) :

06 = dint(input(f'{f + 1}39 7HFQUH+=2 "))
07 nPeop'Le .append(n)

08

09 # UHER2 HIQIYLE SESOZR Hig

10 return nPeople

11

12 # IE 10-14
13 def show_num_of_population(p) :

26 | # = mzOy= . FC 19-7
27 | # 1~430| 7ZoIgA= olzHi2

14 cnt = len(p) .
L 28 | population = -input_num_of_population()
15 for i in range(cnt) o
. - =0 O |QA = = Ho|
16 print(f'{i + 1}3¢ #F2Er= {p[1]1}SLLICE. ") 30 | # QS 1.4Z0| HZolgas 2
17

31 show_num_of_population(population
18  # TS 10-20 _num_ot_pop (pop )

19 | def get_total
o ee ST 33 | # total = Y2 1~432| HFelEre| EES 78

20 total = 34 | total = get_total( lation)
otal = total(population
21 for n in 1st : a5 pop
22 total += n _
.3 36 | # & HEQA(total) &
37 rint(f'E& AFQIEs= {total}HQILICE. '
24 return total print( ranes { Jaste-
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e C|AEQ| QAT EELCIE B|AER
= 2709 [] ®AF AL = ZF 240 F

0 5c 1022 REES

01
02
03
04
05
06
07
08

scores = [
[ 'OlE", 95, 85 ],
[ '=Z5', 90, 80 ]

print(scores)
print(scores[0]) [['O[Ek~', 95, 85], ['&&ES', 90, 80]]
print(scores[0][0]) ['O[&k", 95, 85]

Ok
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Frames Objects
Global frame list
0 1 2
scores L wolgtar | o5 | 85
list
0 1 2
"ZZS" | 90 | 80

list
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01 | scores = [ m

02 [ 'Of&k', 95, 85 ],

03 [ 'SZS', 90, 80 ] 0|Zk4=/95/85/

04 ] E£Z5/9%0/80/

05

06 | for g in scores:

07 for e in g: O B|AE0] IEE B

08 print(e, end="'/")

09 print() 06 for gi 1in range(len(scores)):
07 for ei in range(len(scores[gi])):
08 print(scores[gi][ei], end='/")
@9 print()
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KEste X
. SIMLH2|o] 2t a0 B QsiME 2t ezt
| el

gtz 7| i= O[&oloF
- =AME MR %S

SUfLE] . keys () # A2 LHe| 7158 =53
CiAfLf2/.values () # SMU2| Lo USe| 2= dist
2] .items ()  # SAMUE| LHS 7|3t E5e === U
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o MY =M= wAIEA #Fs50 72

£ 5c10-25 RO E T LR e

01
02
03
04
05
06
o7
08

¢

'"python': 'IOM"

'basic':'7|x"', python IO
'programming': 'T="21" basic 7I=
} programming ITZ72H2

for key in d.keys():

print(key, d[key]) SAL2|e] 2} 240 BEEXOo = S]]

07 | for key 1in d:
08 print(key, d[key])
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o 2 QHOIM MOIE S8 A2 S HtetstH
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- OIOIH AH= g+ HHZWME 720A AHE 7ts
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cl 42l 94 HE BS
o 72%H 7|2 BRO B 4= Ut=tstE =
" I:IH7H |__JIE
S E|(dic), B2 249 7|(key)
» Hrsbgf
fa%t 7|9 420= 10| thist @42 et
FRSHA| A2 7|2 Z20|= None Btzt

01
02
03
04
05

d 3c 1027 BERECCRZE =]

g g2 of

def dict_get(dic, key) :
1t key in dic :

return dic[key]

else :

return None

50



Q4 H2 &2l 0[&

# BETRTRCTAN  ciiifajo] 24 H2 &4 MO 0 (cond

07 | d = { 'python':'OPM"', 'basic':'7|x', 'programming':'Z=T2{A"' }
08
09 | res = dict_get(d, 'python')

10 | if res != None : 01 def dict_get(dic, key)
11 print(res) 02 1T key 1n dic :

12 | else : 03 return dicl[key]
13 print('25: == 7|') 04 else :

14 05 return None

15 res = dict_get(d, 0)

16 @ if res != None :

17 print(res)
18 | else :

19 print('27: ZXE 7[') o PM
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" I:IH7H |__JIE

« SIALH2|(dic), =7te H|O0|E{ Q] 7|(key)2t Z(value)

. BFSIZE

« F7HOjE &yAFIO R vl

&4 2= 10-28

01
02
03
04
05
06

def dict_append(dic, key, value) :

1t key in dic :

return False

dic[key] = value
return True

=g AEE EE 52



0 5c10-28 X

08 | d ={ 'python':'mOPM"', 'basic':'7|=', 'programming':'Z=7T2{AU" }
09
10 | if dict_append(d, 'PYTHON', 'LOPM'")

11 print('Z7t 42')
12 else : 01 def dict_append(dic, key, value) :
13 print('$7} 2of') 02 if key in dic :
14 03 return False
15 | if dict_append(d, 'basic', 'H[0[X!") 0
16 print('S vl %71 43') o0 diclkey] = value
06 return True
17 | else :
18 print('Ss Hwf F7t Aoi')

.
20 | print(d)
| 7t 8438
5t 71 Ay
{'python': 'mMOPM', 'basic': '7|=', 'programming': 'Z272{3',
"PYTHON': 'HIIOPM'}
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01
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03
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HI 2}
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# BETRTMCTIN  ciuiiaje] 94 At &4 70| of

def dict_delete(dic, key) :

if k

ey in dic :
del dic[key]

return True

else :

return False
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O] & Of

EIALAZIS] R4 Al 84 7432) of (cond

d = { 'python':'OOWM', 'basic':'7|x', 'programming':'ZZ72{U" }

08

09 @ if dict_delete(d, 'basic') :

10 print('AK &3') 01

11 | else : 02

12 print (A& Amj') 03

13 04

14 | print(d) 05
06

ANl M=

{'python': 'mMo|M', 'programming': 'ZZ=72f

def dict_delete(dic, key) :
1T key 1in dic :
del dic[key]
return True
else :

return False
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get_average() &g
Ol2 MY 2|AEQ ZF SHlo| A

7|
Z 25l = show_scores() &
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ol =madas ok

W2 A4H ofal AW A2 7t =

l
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[

= 2= input_scores() &,
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W T wasts

[E4 2]
#1? 95
#2? 100
#3? 24
#4? 72
#5? 1
#67? -1
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MU 2| shopping_bagli AtEAIZF
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1T
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T

shopping bag =

{}

while True:

False:

1f buy(shopping bag)

break
find (shopping bag)

show (shopping bag)
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